E

SINCE 1980

RAJYOG ENTERPRISES

AUTHORISED DISTRIBUTORS FOR SAP INDUSTRIES
1, RAHUL CHAMBERS,OPP. FORBES MARSHALL LTD, OLD MUMBAI-PUNE ROAD,KASARWADI ,PUNE 411034

OFFICE - 020-27146183 , TELEFAX 020-27147183 , OFFICE MOBILE - +91 9420045678 / 9423508132 / 8446734567
E-MAIL - sales@rajyogenterprises.com / piyush@rajyogenterprises.com WEBSITE - www.rajyogenterprises.com

MANUFACTURED BY : SAP INDUSTRIES

DATE :01/01/2022

[ M1G TORCH - TORCHKIT - EURO (STD) ]

(" DESCRIPTION 3 MTR. ExtRA) ( DESCRIPTION 3 MTR. EXTRA )
PER
AIR COOLED PART RATE | METRE AIR COOLED PART RATE | METRE
sy
o MA 15 MA15101030 | 3399 | 618 = MA15 MA15102030 | 3399 618
5 MA 24 MA24201030 | 4635 | 876 5 MA24 MA24202030 | 4635 876
@ MA 25 MA25201030 | 4635 | 876 = MA25 MA25202030 | 4635 876
. MA 36 MA36401030 | 6695 | 1339 MA36 MA36402030 | 6695 | 1339
= MA36-A MA36400030 | 8755 | 1339 o
E ‘;f WATER COOLED|  PART RATE
= | WATER COOLED PART RATE MW 50 MW50002030 | 15450 -
MW 50 MW50001030 | 15450 - 1L )
L MW 50-A MW50100030 | 17510 -
SAP IMPORTED MIG TORCH* UNMARKED COAX CABLE, AVAILABLE IN 3 MTR ONLY
AIR COOLED PART NO. RATE
MB 25* (250 amp) MB 25201030 4017
MB 36* (400amp) MB 36401030 5871
(WITH TRIGGER SWITGH)

MA15 IS SUPPLIED WITH BLUE, MA24/25- BLACK & MA36- YELLOW INSULATED LINER !

4 N\
NON - FERROUS
TORCH  |[SNiNe s STEEL W IRE
SS/ALUMINIUM
ooeL| WRE| SZE | wme ECU CUCRZR WIRE
MAX.| MM PART NO. | RATE | PART NO. RATE PART NO. RATE
MA15 1.0 DIA 6 0.8 AW21062508 31 AW22062508 52 AW23062508 36
MA24 12 Me X L25| 1.0 [ Aw21062510 31 AW22062510 52 AW23062510 36
1.2 AW21062512 31 AW22062512 52 AW23062512 36
mgg ]g DIA 8 0.8 AW21082808 41 AW22082808 57 AW23082808 46
MA36 1.6 M6 X L 28 1.0 AW21082810 41 AW22082810 57 AW23082810 46
MW 50 1.6 2 AW21082812 41 AW22082812 57 AW?23082812 46
MA36-A ' 6 | Aw21082816 41 AW22082816 57 AW23082816 46
0.8 AW21103008 60 AW22103008 77 AW23103008 67
MA25 1.2 DIA10 12 | AW21103012 60 AW22103012 77 AW23103012 67
MA36 16 [ vgxL30| 16 | Awz21103016 60 AW22103016 77 AW23103016 67
MW 50 2.0
\_ MA36-A J
4 -\

TORCH CONTACT TIP HOLDER TORCH GAS DIFFUSOR
MODEL | size - wmm PARTNO. | RATE [|MODEL| coLour PART NO. RATE
MA24 M6 x M6 L26 | AW31006626 74 CERAMIC AW41002421 88

MA24 PLASTIC AW41002431 72
MAos | M8xM6 L35 | AW31008635 82 WHITE-GFT | AW41002441 124
M8 x M8 L35 | AW31008835 82
M8 x M6 L28 | AW31008628 93 BROWN AW41003611 72
MA M8 x M8 L28 | AW31008828 93 MA36 CERAMIC AW41003621 88
36 M8 x M6 L32 | Aw31008632| 118 PLASTIC AW41003631 82
M8 x M8 L34 | AW31008834 118 WHITE -GFT AW41003641 134
M10x1/M6 L25 | MW32001625| 155
MW50 | M10x1/M8 L25 | Mw32001825| 155 MW50 (BDESXVNII\fC mwzgggg; ?;g
M10x1/M6 L29 | MW32001629| 206 WHITE.GFT MWA42005141 155
L M10x1/M8 L29 | MW32001829 | 206 ) .




GAS NOZZLE
—_—

OTHER SPARES
—_——

~\
TORCH NOZZLE TORCH
MODEL [ SHARE =5ec PART NO. | RATE VODEL ITEM PART NO .|RATE
HANDLE ERGO PLUS AW61000001 | 340
TAPER 10MM | MA11155310 129 LOCK RING AW61000002 | 62
MA15 | CONICAL 12MM | MA12155312 118 HANDLE WITH TRIGGER AW61000011 | 567
CYLINDERICAL | 16 MM | MA13155316 129 HANDLE WITH MICRO SWITCH [AW61000012 | 567
TAPER 10 MM | AW11246310 221 SWITCH - TRIGGER AW61000021 206
MA 24 CONICAL 12 MM | AW12246312 165 SWITCH - MICROSWITCH AW61000022 206
CYLINDERICAL| 17 MM AW13246317 165 TORCH BODY PVC MA61000031 36
MA 25 | TAPER 11 MM | AW11255711 196 MA15 | BALL JOINT + SPRING AW61000041 | 227
CONICAL 15 MM | AW12255715 185 MA24 | SPRING SUPPORT-END MAG61000051 196
CYLINDERICAL| 18 MM | AW13255718 196 MA25 | CABLE SUPPORT-END MA61000055 | 155
TAPER 12 MM | AW11368412 283 EURO NUT PLASTIC AWG1000061 | 134
MA 36 CONICAL 16 MM AW12368416 247 MA36 | EURO CONNECTOR (AC) MAG1000066 536
CYLINDERICAL| 19 MM AW13368419 258 EURO CONNECTOR "O" - RING | AW61000071 1
MW 50 | TAPER A MM | Awiis17614 304 EURO LINER COLLET "O" RING| AW61000072 11
CONICAL oM | Awi2s17616 083 :NER POSITION NUT AW61000076 26
CREW FOR HANDLE - 3 NOS.| AW61000081 08
\. CYLINDERICAL | 20 MM | AWT3517620 322 J SCREW FOR CABLE SUPPORT | AW61000082 04
SWAN NECK CABLE END NUT -M10 x 1 MAG1000086 21
(TorRCH | . ~\ INSULATOR AWG1002770 62
MODEL BEND PART NO. RATE MA27 | NOZZLE SUPPORT RING TYPE |AW61002771 170
WAS [ So- [ WATS500001 [ 641 Nomait SumpomT 0 A [ mugioosmra | o
MA 24 50° MA24500001 953 e 61002776 | 2
VA 25 50° MA25500001 953 MA25 | NOZZLE SUPPORT SPRIN AW61002575 | 43
. . — MA15 | HEAD INSULATOR AW61001570 | 52
MA36 50° MA36500001 1545 NOZZLE SUPPORT RING TYPE |[MA61001571 | 165
MA36-A 180° MA36180001 3554 NOZZLE SUPPORT SPRING TYPE|MA61001572 | 165
MW 50 50° MW50500001 4275 EURO CONNECTOR (WC) MW62000066 | 1133
(MWE50-A 180° MW50180001 6032 JOINT WITH SPRING (WC) MW62000051 | 670
MW50 [ BUSH MW62000052 | 72
WELDFLEX COAX CABLE 3 METRE COMPLETE CABLE SUPPORT END MW62000055 | 773
r N INSULATOR MW50 MW50000101 57
TORCH CABLE PARTNO. | RATE | EXTRA PER L )
MODEL SIZE METRE
MA 15 16 MM SQ.| MA15516630 | 2266 618 MACHINE PARTS
MA 24/25 25 MM SQ.| MA24725630 | 3039 876 ITEM PART NO RATE
MA 36 L 35MM SQ.| MA34835630 | 3657 | 1082 PLASTIC HOUSING MM71000011| 335
MA 36 50 MM SQ.| MA47950730 | 4429 | 1339 EURO CENTRAL ADAPTOR - AXIAL MM71000021| 824
N ") | LEURO CENTRAL ADAPTOR - RADIAL _|MM71000031] 824
LINERS COMPLETE FOR 3 METRE TORCH (EURO) LINER COLLET EURO
4 EXTRA )
TYPE |COLOUR| SIZE |WIRE | PART NO. |RATE| 5\ TEM PART NO. | RATE
INSULATED| — 25x 45 (1.2 -1.6| AW52250034 | 196 -
WHITE | 1.3 x3.8|06 - 0.8| AW51130034 | 268 | 67 3.8mm OD.LINER WHITE | AW59380101 | 57
BLUE 15x 45|08 - 1.0| AW51150034 | 278 | 72 4.5mm O.D. LINER BLUE AW59450102 | 57
INSULATED| BLACK | 1.8 x4.5|0.8-1.2| AW51180034 | 309 | 82 4.5mm O.D. LINER RED AW59450103 | 57
RED 2.0 x 45 (1.0 - 1.2| AW51200034 | 268 | 67 4.5mm O.D. LINER YELLOW | AW59450104 | 57
YELLOW | 2.5 x 4.5 |1.2 - 1.6| AW51250034 | 309 | 82
BLUE 15 x 4.0 0.8 - 1.0| AW53150034 | 1133 | 340 LINER COLLETTEFLON
TEFLON RED 2.0 x 4.0 [1.0 - 1.2| AW53200034 | 1107 | 319 NER BLUE/RED | AWss400106 )
YELLOW | 2.7 x 47 [1.2 - 1.6| AW53270034 |1082 | 309 4.0mm O.D.L 00106 | 6
CARBON 2.0 x 4.0 [1.0 - 1.2| AW54200034 | 1159 | 371 4.7mm O.D. LINER YELLOW | AWs9470107 | 62
TEFLON BLACK |27 x 4.7 [1.4 - 1.6| AW54270034 | 1159 | 371
. J
(TERMS AND CONDITIONS]
PRICE EX STOCK, SUBJECT TO PRIOR SALE AND RATES TO OUR FINAL CONFIRMATION!
TAXES SGST @ 9% + CGST @ 9% OR IGST @ 18% EXTRA AS APPLICABLE!
DELIVERY EX OUR KASARWADI OFFICE, PUNE 411034!
PAYMENT AGAINST PROFORMA INVOICE!

THIS PRICE LIST SUPERSEDES ALL OUR PREVIOUS PRICE LIST!




